Lesson 6: Modelling and Solving Problems with Polynomial Functions

Example 1: The(volume in cubic centimetres, of a(rectangula_rmb‘c(;_x can be modeled by

the polynomial function V(x) = 3x3 4+ x? — 12x — 4. Determine expressions for the other
dimensions of the box if the height is x + 2.
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Example 2: An artist creates a carving from a block of soapstone. The soapstone is in the

shape of awlammibg)_w__ose volume, in cubic feet, is represented by the
equatlom/ Vix) = 6x3 + 25x2 + 2x — 8, where x is a positive real number. What are the
factors that represent possible dimensions, in terms of x, of the block of soapstone?
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Example 3: Three consecutive odd integers have a product of —105. What are the three
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Example 4: The product of four integers is x* + 6x + 11x? + 6x wher@s one of the

integers. What are possible expressions for the ot “three intégé'rs?
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